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Answer My fve qlrestions.

1. (a) What are the different guided transrnission

media that may be used for data ffansmission ?

Discuss their construction, connectors use4
application areas and advantagesldis-

(b) What do you mean by random access or
multiple access ? What are the different
random access protocols ? 4

(c) Ddfine synchronous and asynchronous

cornmunication and give example of , each.

advantages. 2+9:ll
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2. (a) Wrat are the carrier sense protocols ? Explain
the concept of l-persistent, non persistent and
p-persistent CSMA. 2+g:19

(b) Draw the Ethernet fi:ame forrnat. Elaborate
the functions of eaEh field. 10

t
1 (a) What do you mean by a data packet ?

Describe the working of CSMA/CD.
2+7:9

Encode the following data strearn in NM-
L, HDB3 and BSZS :6

101il111il10000

1000000001i111

xltlll111000t111

Wtrat is token ring and how does it work ?
a''l

4. (a) What is an interface ? Draw prn-out diagrams
for RS-232C and RS-449 standards. State
rheir important characteristics. g

(b) Elaborate the eharacteristics of various
implenientations of Fast Ethernet. 5

(ei State the irnportance of Gateways, Bridges
and Hubs in data eommunication" 6
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5. (a) Discuss IPv4 elassless and classful addressing

schernes. 3+3d

(b) Diseuss the role of modem in a telephone

systern. 5

(c) Draw the digital signals for the bit string

010 101 lll 000 011 using each of the

Manchester and differential Manchester digital

encoding schemes. Assume 'High'as +0.25V

aErd 'Low' as -0.25V" I

(a) Differentiate between: 6

(i) Baseband siglralling and Broadband

. signalling

(ii) Foint-to-point and Broadcast type of
connputer netw"orks.

(b) Draw the mesh topology and discuss its

ensrits / demerits. 5

(e) Discuss the features of lVorld lffide Web
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7. Write short notes on:

(i) TCPAP protocol suit

(ii) Network Interface Card (NIC)

(iii) ATM architecture

5x4:2A

(iv) 10 Base 5

(v) Slotted ALOI{A.
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